
UNITED BANK OF INDIA 07 
TEST - I 
TEST OF REASONING 
 
Q.1. Four of the following five are alike in a certain way and so form a group. Which is the one thatdoes 
not belong to that group? 
a) Fearless : Courage  
b) Fit : Health  
c) Reliable : Trust 
d) Wealthy : Money  
e) Famous : Ambition 
 
Q.2. If it is possible to make only one meaningful word with the fifth, the ninth the eleventh and the 
twelfth letters of the word HORTICULTURE using each letter only once in each word, which of 
thefollowing will be the last letter of that word? If no such word can be made, give answer 'N' and 
ifmore than one such word can be made, give answer 'M'. 
a) E  
b) T  
c) R  
d) N  
e) M 
 
Q.3. In a certain code, SHADOW is written as TGBCPV and PURE is written as 'QTSD' How isLENGTH 
written in that code? 
a)MFOHUI  
b)MDMFUG  
c)MDOFUI 
d) MFOFSG  
e) None of These 
 
Q.4. Howmany such pairs of letters are there in the wordMISCONDUCT each of which has as manyas 
letters between them in the word as in the English alphabet? 
a)None  
b)One  
c)Two 
d) Three  
e) More than three 
 
Q.5. If 9 : 27 and 16 : 64 then 81 :? 
a) 324  
b) 729  
c) 289  
d) 243  
e) 125 
 
Q.6. In a certain code HEART is written as @8531 and FEAST is written as '# 8541' How is 'FAR-THEST 
written in that code? 
a)@8543#18  
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b) #5314@81  
c) #531@841 
d) 4531@845  
e) None of these 
 
Q.7. Pointing to Hari, Seema says. "He is the grandfather of Mahesh my eldest son. How is Harirelated to 
Seema? 
a) Father  
b) Uncle  
c) Brother-in-law 
d) Data inadequate  
e) None of these 
 
Q.8. Four of the following five are alike in a certain way and so form a group. Which is the one thatdoes 
not belong to that group? 
a) Planet  
b) Sun  
c) Earth  
d)Moon  
e) Star 
 
Q.9. If 'sun' is called 'moon', 'moon' is called 'earth', 'earth' is called 'sky', 'sky' is called 'star' and'star' is 
called 'sun', where do birds fly? 
a)Star 
b) Moon 
c)Sky 
d)Sun 
e) None of these 
 
Q.10. If the positions of the first and the eighth letters of the word REPRESENTATIVE are inter-changed. 
Similarly the positions of the second and the ninth letters of the word are inter-changed and so on, 
which of the following will be the fourth to the left of the sixth from the left end after the 
rearrangement? 
a) E  
b) A  
c) P  
d) T  
e) None of those 
 
Study the following arrangement carefully and answer the questions given below: 
Y H 4 T $ F O 9 V * R 5 Q M @ I E 7 K C 2 Z W A # N 
Q.11. If all the numbers in the above arrangement are arranged in ascending order from left to right 
howmany numbers will retain their position within the arrangement after rearrangement? 
a)One  
b)Two  
c) Three  
d)None  
e) None of those 
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Q.12. How many such elements are there in the above arrangement, each of which is 
immediatelyfollowed by a vowel and immediately preceded by a symbol? 
a)None  
b)One  
c)Two 
d) Three  
e) More than three 
 
Q.13. Position wise $ is related to M and Y is the same way as 5 is related to which of the following? 
a) 9 and  
b) and V  
c) K and I  
d) 4 and I  
e) None of These 
 
Q.14. If the positions of the elements in the above arrangement are interchanged i.e. first and twenty-
sixth, second and twenty-fifth and so on and the position of the last element is left unchangedwhich of 
the following will be tenth from the left end after rearrangement? 
a) *  
b) V  
c) 7  
d) E  
e) None of these 
 
Q.15. If all the vowels in the above arrangement are dropped which of the following will be 
themiddleelement? 
a) Q  
b) R  
c) 5  
d) M  
e) None of these 
 
These questions are based on the following information: 
'A* B' means 'B is the father of A'. 'A $ B' means 'A is the sister of B'. 
'A@ B' means 'A is the mother of B'. 'A = B' means 'B is the brother of A'. 
Q.16. If R @ Q = L * M = P how is R related to P? 
a) Cousin Sister 
b)Mother-in-law  
c) Aunt 
d) Data inadequate  
e) None of these 
 
Q.17. Which of the following means L is the aunt of Q? 
a)L@P$M=Q  
b) L$M@N=Q  
c) L=N*R=Q  
d) L$M*N=Q  
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e) None of these 
 
Q.18. Which of the following meanings of arithmetical signs will yield the value zero for the expression 
given below? 
1000 $ 10 * (16 @ 5? 20) 
a) $ means ÷, * means +, @ means x,? means - 
b) $ means x, * means +, @ means -,? means ÷ 
c) $ means ÷, * means -, @ means x,? means + 
d) $ means +, * means ÷, @ means -,? means x 
e) None of these 
 
The letters in each of the following five words are written in alphabetical order and five new sets of 
letters are obtained. 
HAD OLD ART WOE PER 
Q.19. Which word will remain unchanged even after rearrangement in alphabetical order? 
a) WOE  
b) PER  
c) HAD  
d) ART  
e) None 
 
Q.20. If it is possible to make one meaningful English word from the last letter of each of the five words 
after their rearrangement in alphabetical order the last letter of the word is your answer. If no word can 
be made 'Z' is your answer and if more than one such word can be made then 'Y is your answer. 
a) Y  
b) R  
c) H  
d) W  
e) Z 
 
In each of the questions below are given three statements followed by three conclusions numbered I, II 
and III. You have to take the given statements to be true even if they seem to be at variance from 
commonly known facts.Read all the conclusions and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly known facts. 
Q.21. Statements : All clouds are silver. No silver is black. Some stars are silver 
Conclusions : I. Some stars are clouds II. No cloud is black. III. Some stars are black. 
a) Only I follows  
b) Only II and either I or III follow  
c) Only I and II follow 
d) Only II follows  
e) None of these 
 
Q.22. Statements : All men are tigers All tigers are hunters. No hunter is mouse. 
Conclusions : I. All tigers are men. II. Some men are hunters. III. Some mice are men. 
a) Only I follows  
b) Only I and II follow 
c) Only II follows 
d) Only I and either II or III follows  
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e) None follows 
 
Q.23. Statements : Only cars are petrol. All buses are diesel. All diesel are trains. 
Conclusions : I. Some buses are trains. II. All cars are petrol. III. Some cars are diesel. 
a) Only I follows  
b) Both I and II follow 
c) Either II or III follows  
d) All follow 
e) None follows 
 
Q.24. Statements : Some players are coaches. Some players are commentators. No umpire is 
commentator. 
Conclusions : I. Some commentators are coaches. II. No commentators are coaches. III. Some umpires 
are players. 
a) Only II follows  
b) Both I and II follow 
c) Only either I or II follows 
d) All follow 
e) None follows 
 
Q.25. Statements : Some rings are necklaces. Some necklaces are earrings. 
All earrings are pendants. 
Conclusions : I. No earring is ring. II. Some rings are pendants. III. Some necklaces are pendants. 
a) Only III follows  
b) Only III and either I or II follow 
c) Only I follows  
d) Only I and III follow 
e) None follows 
 
In each question below is given a statement followed by two courses of action numbered I and II. A 
course of action is a step or administrative decision to be taken for improvement, follow-up or further 
action in regard to the problem, policy, etc. On the basis of the information given in the statement, you 
have to assume everything in the statement to be true, and then decide which of the suggested courses 
of action logically follow(s) for pursuing. 
Give answer a) if only I follows. 
Give answer b) if only II follows. 
Give answer c) if either I or II follows 
Give answer d) if neither I nor II follows 
Give answer e) if both I and II follow. 
 
Q.26. Statement : Conventional inspection methods are not effective in determining the condition of 
railway bridges resulting in an increased number of accidents. 
Courses of action : I. Dilapidated bridges and those which have not under gone any repairs in the past 
ten years should be immediately demolished 
II. Modern bridge inspection equipment along with the required trained personnel should be deployed 
by the Government to check the condition of bridges and take immediate action to repair them. 
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Q.27. Statement : The number of bank frauds committed by using sophisticated technologylike the 
internet has doubled in recent times. 
Courses of action : I. Government should provide technical training to law enforcement personnel to 
handle such crimes. 
II. Banks should introduce rigorous checks and systems to prevent such frauds. 
 
Q.28. Statement : The incidence of bus drivers violating traffic rules has not fallen despite the 
imposition of fines on rash and negligent drivers. 
Courses of action : I. The licenses of the offenders should immediately be taken away 
II. The bus companies should warn the concerned guilty drivers without further delay and suspend the 
repeated offenders 
 
Q.29. Statement : The number of unemployed rural population being exploited by money lenders has 
been growing over the years. 
Courses of action : I. TheGovernment should provide adequate earning opportunities for unemployed 
rural people. 
II. The Government should encourage NGOs and financial institutions to provide alternate sources of 
credit to them. 
 
Q.30. Statement : Many patients in rural areas die because the attending Doctors lack the requisite 
knowledge and skills to work in these areas. 
Courses of action : I. It should be compulsory for Doctors to work in rural areas before issuing them 
their license to practice medicine, 
II. The infrastructure facilities of hospitals in rural areas must be improved to ensure the success of high 
risk operations. 
 
In a certain instruction system different computation processes are written as follows : 
(i) a @b $ c means square root of 'b' is divided by 'a' and the resultant is added to 'c'. 
(ii) a * b # c means the resultant of 'a' raised to the power of 'b' is multiplied by 'c' 
(iii) a % b ! c means quotient of 'a' divided by 'b' is subtracted from 'c' 

(iv) a ©b  cmeans product of 'b' and 'c' is divided by 'a'. 
In each of the questions below, a set of instruction sequence is given. You are required to find out the 
outcome which should come in place of the question mark (?) in each of the given sets of sequence. 
Q.31. 72 %6 ! n = 96 

4 © n  2 =? 
a) 54  
b) 108  
c) 42 
d) Cannot be determined  
e) None of these 
 

Q.32. 7 © 14  9 = m 
m @ 324 $ 192 =? 
a) 28.67  
b) 193  
c) 210  
d) 196.24  
e) None of these 
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Q.33. 2 * 6 # 4 = y 
224 % 2 !y =? 
a) 112  
b) 228  
c) 12  
d) 144  
e) None of these 
 
Q.34. 75 % 3 ! r = 75 
2 @ r $ 125 =? 
a) 135  
b) 112.5  
c) 130  
d) 175  
e) None of these 
Q.35. 8 * 3 # 2 = x 
4 @ × $ 64 =? 
a) 72  
b) 128  
c) 576  
d) 512  
e) None of these 
 
Read the following information and answer the questions given below. 

Seven trainees Vijay, Shruti,Madhu, Aamir, Mahesh, Deepa and Sachin have been recruited 
byHSS Ltd. to handle various projects. They come from different cities - Surat, Chennai, Delhi and 
Bhubaneswar and have specialized in different fields i.e. Finance, Management, Engineering and 
Architecture notmore than two trainees have been selected with the same specialization or from the 
same city Sachin is from Surat and has specialized in Engineering. Vijay comes from Delhi and has not 
specialized in Engineering. Only Management trainees were selected from Chennai and Bhubaneswar. 
No female trainee has specialized in Architecture. A trainee who has specialized in Architecture does not 
come from Delhi. Deepa lives in the same city as Vijay but does not have the same specializations. Aamir 
and Madhu come from the same city with differentspecializations. Shruti has specialized in Finance. 
Q.36. If Aamir comes from Chennai which of the following must be TRUE? 
a) Mahesh specialises in Management  
b)Madhuspecialises in Architecture 
c)Aamirspecialises in Management  
d) Mahesh comes from Bhubaneshwar 
e) None of these 
 
Q.37. Who comes from Chennai? 
a)Aamir 
b) Mahesh 
c)Shruti 
d) Cannot be determined  
e) None of these 
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Q.38. What has Madhuspecialised in? 
a) Engineering 
b) Management  
c) Finance 
d) Data inadequate  
e) None of these 
 
Q.39. Which of the following combinations is definitely incorrect? 
a) Engineering-Surat  
b) Architecture-Chennai 
c) Finance- Delhi  
d) Finance - Surat 
e) None of these 
 
Q.40. Who has studied Finance? 
a) Vijay  
b)Madhu 
c)Aamir 
d)Deepa 
e) None of these 
 
In making decisions about important questions, it is desirable to be able to distinguish between 'strong' 
arguments and 'weak' arguments. 'Strong' arguments are those which are both important and directly 
related to the question, 'Weak' arguments are those which are of minor importance and also may not be 
directly related to the question or may be related to a trivial aspect of the question. Each question 
below is followed by two arguments numbered I and II. You have to decide which of the arguments a 
‘strong’ argument is and which a ‘weak’ argument is. 
Give answer a) if only argument I is strong. 
Give answer b) if only argument II is strong. 
Give answer c) if either argument I or II is strong. 
Give answer d) if neither I nor II is strong, 
Give answer e) if both I and II are strong. 
 
Q.41. Should liquor companies be held liable for alcohol related accidents caused by underage youth? 
Arguments : I. Yes, they do not advertise about the consequences of consuming alcohol. 
II. No. fake identity cards and licenses are easily available to the youth allowing them to obtain alcohol. 
 
Q.42 Should there be legislation to ensure that children provide maintenance to their aging parents. 
Arguments : I. Yes, the magnitude of the problem of abuse and neglect of aged parents by their 
immediate family is growing. 
II. No, the cost of implementing this legislation will be too much. 
 
Q.43. Should the funding for national space research programs be diverted to addressing the needs of 
the poor? 
Arguments : I. Yes, the budget for space research is lower than that of other countries so it cannot 
compete with them and can be put to better use in schemes to benefit the poor. 
II. No, communication satellites help provide services like telemedicine so that people in rural areas can 
get access to the best professional advice. 
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Q.44. Should the Government force private broadcasters to share coverage of international cricket 
matches involving the national team with the Government owned national network? 
Arguments : I. Yes, people without access to satellite television can get to see their national team 
playing in major international tournaments. 
II. No, private broadcasters will take legal action against the Government. 
 
Q.45. Should loss making Government airlines be merged into a single entity? 
Arguments : I. Yes, the merger will pool their resources allowing them to expand their services and be 
more competitive with private and foreign airlines. 
II. No, the merger will result in loss of jobs. 
 
In the following questions, the symbols #, %, $, & and @are used with the following meaning as 
illustrated below: 
'X # Y' means 'X is neither greater than nor equal to Y'. 
'X % Y' means 'X is neither greater than nor smaller than Y'. 
'X $ Y' means 'X is neither smaller than nor equal to Y'. 
'X & Y' means 'X is either greater than or equal to Y'. 
'X@Y' means 'X is not greater than Y'. 
In each question, three statements showing relationships have been given, which are followed by two 
conclusions I & II. Assuming that the given statements are true, find out which conclusions is/are 
definitely true. 
Mark answer a) if only conclusion I is true. 
Mark answer b) if only conclusion II is true. 
Mark answer c) if either conclusion I or II is true. 
Mark answer d) if neither conclusion I nor II is true. 
Mark answer e) if both conclusions I and II are true. 
Q.46. Statements : R & S, T # V, V @ S 
Conclusions : I. R % V II. V # R 
 
Q.47. Statements : J%K , L & K, I $ L 
Conclusions : I. I $ J II. J @ L 
 
Q.48. Statements : A # B, C % B, D & B 
Conclusions : I. D $ A II. D % C 
 
Q.49. Statements : E $ G, G & F, H @ G 
Conclusions : I. E @ H II. H % F 
 
Q.50. Statements : P @ M, M # N , N & Q 
Conclusions : I. Q # M II. P % N 
 
Below is given a passage followed by several possible inferences which can be drawn from the facts 
stated in the passage. You have to examine each inference separately in the context of the passage and 
decide upon the degree of its truth or falsity. 
Mark answer a)if the inference is definitely true i.e. it properly follows from the statement of facts 
Mark answer b)if the inference given is probably true but not definitely true in the light of the fact. 
Mark answer c)if the data are inadequate i.e. from the facts given you cannot say whether the inference 
is likely to be true or false. 
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Mark answer d)if the inference is probably false though not definitely false in the light of facts. 
Mark answer e)if the inference is definitely false i.e. it cannot possibly be drawn from the facts given or 
it contradicts the given facts. 

Indian Foreign Direct Investment (FDI) in China is ten times the reverse flow. This is a direction 
sequence of the Government questioning FDI inflows from Chinese firms in sensitive areas due to 
security reasons. As China emerges as "the factory to the world" Indian firms have lobbied with the 
Government to impose stiff anti-dumping duties on imports of Chinese products. A CII study found that 
white India's major exports to China are low priced commodities. The latter is exporting more value 
added products likes electronic appliances. Even in areas like software where India is miles ahead of 
China there are an emerging view that the situation may be reversed. India currently scores over others 
in certain key areas like labour costs but the annual remuneration for a project manager has gone up by 
25% and global HR consultants feel productivity in China and Eastern Europe are higher than India's. 
Q.51. Indian firms feel threatened by competition from Chinese firms. 
 
Q.52. China profits more than India from bilateral trade between the two countries. 
 
Q.53. Salaries in India are higher by Eastern European standards. 
 
Q.54. Despite the policies of the Indian Government China's investment in India has not grown. 
 
Q.55. China may emerge as a future global leader in the software industry. 
 
Study the following information carefully and answer the questions given below:— 
A corporation wishes to recruit a Senior Project Manager through a reality based T.V, show.  
Following are the conditions for selection: — 
The candidate must— 
(i) not be more than 35 years as on 1.03,2007. 
(ii) have secured at least a first class i.e. 60% in his graduation. 
(iii) have a Post Graduate degree in Management from a Grade A institute, 
(iv) have secured at least 55% marks in the interview. 
(v) have at least five years of managerial experience after post-graduation. 
(vi) be willing to pay a bond of Rs. 25.000/- 
In the case of a candidate who satisfies all Other conditions EXCEPT — 
(a) at (iii) and (v) above, but has over seven years of managerial experience, his/her case is to be 
referred to Company's Board of Directors. 
(b) at (vi) above, but is willing to pay a fine for breaking the agreement his/her case may be referred to 
the Channel Board. 
In each of the following questions, details of one candidate are given. You have to take one of the 
following decisions with regard to each candidate based on the information provided and the conditions 
and waivers given above. You are not to assume anything other than the information provided in each 
question. All these cases are given to you as on 1. 03.2007. 
Mark answer a)if the candidate is to be selected. 
Mark answer b)if the case is to be referred to the Channel Board. 
Mark answer c)if the case is to be referred to the Company's Board of Directors. 
Mark answer d)if the candidate has not to be selected. 
Mark answer e)if the data provided are inadequate to take a decision 
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Q.56. Saif has graduated with 77% in 1994. He obtained 68% marks at the interview and has 
beenemployed as Marketing Manager in a software company since his degree in marketing from the top 
ranked management institute in 2000. He is willing to pay the bond amount and his date of birth is 
31.12.1973. 
 
Q.57. Prakash at 25 was the youngest Media Manager at Cadbury Foods after his PG degree in 
Marketing Management from a Grade A institute in 2000. A B.A. (Hons.) with 75% he obtained 
70% at the interview and is willing to pay the bond. 
 
Q.58. Vijay has a Master’s degree in PharmaManagement from a Grade A institute in 2001 after which, 
he secured the post of Project Manager at Older Chemicals. A BSc. Chem. with a first class he completed 
32 years of age on 23rd November, 2006 and he has agreed to pay the fine. He is unwilling to pay the 
bond though he has secured 80% at the interview. 
 
Q.59. Sujata is a 29 year old Sales Manager with TNS Communications ever since her MBA (Sales) degree 
from a grade A management institute in 2000. A first class Arts graduate she secured 70% marks at the 
interview and is willing to pay the bond. 
 
Q.60. A first class graduate and post graduate from an A grade institute in actuarial science, Jayeshhas 
been working for the past five years after his post-graduation as an Assistant Branch Manager. He 
secured 68% marks at the interview, is willing to pay the fine and celebrated his 33rdbirthday on 26th 
January, 2007. 
 
Q.61. With a first class master’s degree in Commerce Neha has 10 years of experience at VTI Insurance 
as AreaManager. She will be 32 years old on 12 September, 2007 and is willing to pay the bond. She 
secured 58%and 62% in the interview and graduation respectively. 
 
Q.62. Arjun, a first class Science graduate has been working as an executive since his graduation in 1995 
and as Assistant Manager Grade A from June 1999. He secured 55% marks at the interview and is willing 
to pay the bond. He has completed 32 years of age on 15th February, 2007. 
 
Q.63. Deepak topped his MBA (Finance) course in 2000 at an A grade institute after securing 71% in his 
B.Com. Since his MBA he has worked at M. P. Accounting Ltd. He obtained 58% marks at the interview 
and accepts the bond condition. His date of birth is 01.11.1976. 
 
Q.64. Vanita has a BSc first class and has occupied the post of Assistant Manages with XYZ Bank for the 
past five years after obtaining her PG. Diploma in HR Management from a Grade A institute. She 
obtained 68% marks in the interview, is willing to pay the bond and celebrated her 30thbirthday on 12th 
March 2007 
 
Q.65. After securing 68% marks in her master’s degree in Management from a Grade A institute in 2003 
Shilpa a 32 year old first class Science graduate has worked as a Regional Manager in Galaxy Pharma. 
She obtained 75% marks at the interview and is willing to pay the fine if she breaks the agreement. 
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Select the appropriate figure. 
 PROBLEM                                                       ANSWER 
Q.66. 

 
a)b)c)d)e) 
Q.67. 

 
a)b)c)d)e) 
Q.68. 

 
a)b)c)d)e) 
Q.69. 

 
a)b)c)d)e) 
Q.70. 

 
a)b)c)d)e) 
 
In each of the following questions in four out of the five figures, element I is related to element II in the 
same particular way. Find out the figure in which the element I is not so related to element II. 
Q. 71. 

 
a)b)c)d)e) 
Q. 72. 

 
a)b)c)d)e) 
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Q. 73. 

 
a)b)c)d)e) 
Q. 74. 

 
a)b)c)d)e) 
Q. 75. 

 
a)b)c)d)e) 
 
TEST - II 
QUANTITATIVEAPTITUDE 
What should come in place of the question mark (?) in the following questions? 

Q.76.  =? 
a) 191  
b) 187  
c) 184  
d) 197  
e) None of these 
 

Q.77. * 4572 + 1  = ? 

a) 25  

b) 127  

c) 25  

d) 127  

e) None of these 
 
Q.78. (12)3 x (6)4 ÷ 432 =? 
a) 5184  
b) 5060  
c) 5148  
d) 5084  
e) None of these 
 
Q.79. 256 × 0.5 = 1024 ÷? x 4 
a) 128  
b) 8  
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c) 32  
b) 28  
e) None of these 
 
Q.80. 0.9% of 450 x 3.5% of? = 39.69 
a) 240  
b) 250  
c) 300  
d) 350  
e) None of these 
 
What should come in place of the question mark (?) in the following number series? 
Q.81. 948 474? 118.5 59.25 29.625 
a) 221  
b) 190  
c) 237  
d) 189.06  
e) None of these 
 
Q.82. 374 355 317? 184 89 
a) 260  
b) 298  
c) 279  
d) 241  
e) None of these 
 
Q.83. 96 94 373 3353? 1341069 
a) 83819  
b) 53483  
c) 63813  
d) 53643  
e) None of these 
 
Q.84. 1 16 81 256? 1296 
a) 400  
b) 625  
c) 875  
d) 1125  
e) None of these 
 
Q.85. 281 141 71 36 18.5? 
a) 9.5  
b) 9.25  
c) 10.75  
d) 10  
e) None of these 
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Q.86. 60 men consume 280 kgs. of rice in 14 days. In how many days will 30 men consume 120 kgs.of 
rice? 
a) 8 days  
b) 12 days  
c) 7 days  
d) 9 days  
e) None of these 
 
Q.87. A mixture contains milk and water in the ratio of 4 : 3 respectively. If 6 litres of water is added 
tothis mixture, the respective ratio of milk and water becomes 8 : 7.What is the quantity of milk inthe 
original mixture? 
a) 96 litres  
b) 36 litres  
c) 84 litres  
d) 48 litres  
e) None of these 
 
Q.88. A school bus covers a distance from a village to school at the speed of 12 kms./hr. and reachesthe 
school 8 minutes late. The next day the bus covers the same distance at the speed of 20kms./hr. and 
reaches the school 10 minutes early.What is the distance between the village andthe school? 
a) 15 kms.  
b) 6 kms.  
c) 9 kms.  
d) 12 kms.  
e) None of these 
 
Q.89. Rohit purchased 52 stamps of 25 paise and 50 paise. The total amount he spent on stomps 
wasRs.22.25. How much amount did Rohit spend on the 50 paise stamps? 
a) Rs.12.5/-  
b) Rs.14/-  
c) Rs.18/- 
d) Cannot be determined  
e) None of these 
 
Q.90. Sheena,Meena and Reena invest amounts of Rs. 63,000/- Rs . 56000/- and Rs.84,000/- 
respectively to start a business. At the end of the year the profit is distributed in the ratio of 
theirinvestments. If Reena's share of profit is Rs. 54000 /-, what is the total profit earned? 
a) Rs.1,30,500/-  
b) Rs. 145,000/-  
c) Rs.1,35,030/- 
d) Cannot be determined  
e) None of these 
 
Study the following data carefully and answer the questions given below it. 

The total number of students in a college having three disciplines viz. Arts, Commerce 
andScience is 19,000. 25% of the total numbers of students are from the discipline of Arts. 35% of the 
total numbers of students are from the discipline of Commerce and 40% of the total number ofstudents 
are from the discipline of Science. The college has three compulsory subjects viz.Social work, Physical 
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training and Cookery for all the three disciplines and the students have achoice to take either one of the 
subjects or all the three subjects together. 24% of the totalnumbers of students from the discipline of 
Arts have taken Social work. 30% of the total numbers of students from the discipline of Arts have taken 
Physical Training. 40% of the total numbers of students from the same discipline have taken Cookery 
and the rest have taken all the threesubjects. 44% of the total numbers of students from the discipline 
of Commerce have taken Socialwork, 28%have taken Physical Training, 14%have taken Cookery and the 
rest have taken all thethree subjects. 35% of the total number of students from the discipline of Science 
have takenSocial work, 43%have taken Physical Training. 4%have taken Cookery and the rest have 
takenall the thee subjects. 
Q.91. What is the respective ratio of the total number of students from the discipline of Commerce 
tothose from the discipline of Science? 
a) 9:8  
b) 7:6  
c) 8:9  
d) 8:7  
e) None of these 
 
Q.92. What is the total number of students who have taken SocialWork and Physical Training from allthe 
three disciplines? 
a) 13855  
b) 9861  
c) 10281  
d) 12555  
e) None of these 
 
Q.93. The total numbers of students who have taken onlySocial work as their subject from the 
disciplineof Arts are approximately, what percent of the total number of students taking the same 
subject from the discipline of Science? 
a) 43  
b) 48  
c) 36  
d) 28  
e) 51 
 
Q.94. What is the total number of students in the college, who have taken onlyCookery as their subject? 
a) 3180  
b) 3200  
c) 3020  
d) 3135  
e) None of these 
 
Q.95. The total numbers of students who have taken all the three subjects are what percent of the 
totalnumber of students in the college? 
a) 15  
b) 12.5  
c) 13.6  
d) 14.8  
e) None of these 
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Study the following table carefully and answer the questions given below it, 
Number of Buildings constructed in various towns in a state over the years 
 

YEARS 
TOWNS 

2000 2001 2002 2003 2004 2005 2006 

A 1500 1580 1610 1636 1650 1660 1700 

B 1250 1284 1320 1335 1396 1400 1450 

C 1480 1500 1545 1550 1596 1600 1634 

D 1724 1750 1800 1820 1832 1880 1896 

E 1020 1050 1100 1115 1160 1175 1190 

F 1136 1190 1230 1240 1265 1280 1294 

 
Q.96. The total numbers of buildings constructed across the state in the year 2000 areapproximately 
what percent of the total number of buildings constructed across the State in the year 2006? 
a) 79  
b) 74  
c) 96  
d) 88  
e) 81 
 
Q.97. What is the difference between the total number of buildings constructed in the year 2003 and 
the year 2005 across the towns? 
a) 299  
b) 302  
c) 96  
d) 203  
e) None of these 
 
Q.98. What is the total number of buildings constructed across the State over the years? 
a) 60990  
b) 65100  
c) 60823  
d) 58996  
e) None of these 
 
Q.99. What is the percent increase in the number of buildings constructed in Town C in the year 2002 
from the previous year? 
a) 2  
b) 3  
c) 6  
d) 5  
e) None of these 
 
Q.100. What is the respective ratio of the total number of buildings constructed in Town E to the total 
number of buildings constructed in Town F over the years? 
a) 146:153  
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b) 157 : 161  
c) 146:157  
d) 153:161  
e) None of these 
 
Study the following Graph carefully and answer the questions given below it.  
Number of Passengers Travelling by various Airlines in the span of Three Months (Number in 
thousands) 

 
Q.101. What is the respective ratio of the total number of passengers travelling by Airline P to the 
totalnumber of passengers travelling by Airline S during the span of threemonths? 
a) 13:15  
b) 4:5  
c) 6 : 7  
d) 12:13  
e) None of these 
 
Q.102. Which of the following airlines has the least number of passengers in the span of threemonths? 
a) P  
b) Q  
c) R  
d) S  
e) T 
 
Q.103. The numbers of passengers travelling by Airline R in the month of December 
areapproximately,what percent of the passengers travelling by other Airlines in the same month? 
a) 42  
b) 30  
c) 18  
d) 36  
e) 25 
 
Q.104. What is the total number of passengers travelling by various airlines in the span of threemonths? 
a) 4,60,000  
b) 5,40,000  
c) 3,80,000  
d) 5,20,000  
e) None of these 
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Q.105. What is the difference between the average number of passengers travelling in the month 
ofNovember and the average number of passengers travelling in the month of January by all theAirlines 
together? 
a) 6000  
b) 5800  
c) 5500  
d) 4800  
e) None of these 
 
Read the following pie chart carefully and answer the questions given below it: 
Distribution of the total number of 45000 students into various fields Science. 
 

Percentage Of Girls in various fields of Science 
(Percentage out of the total number of students in that 

field) 

Field Percentage of Girls 

Medicine 49% 

Engineering 16% 

Micro Biology 36% 

Computers 50% 

Chemistry 19% 

 

 
 
Q.106. What is the respective ratio of the number of boys from the field of Engineering to the 
totalnumber of boys from all the fields together? 
a) 154 : 373  
b) 153 :448  
c) 9:31 
d) 154:527  
e) None of these 
 
Q.107. What is the difference between the total number of boys from the field of Medicine and the 
totalnumber of boys from the field of Micro-Biology? 
a) 4860  
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b) 4608  
c) 5994 
d) 5949  
e) None of these 
 
Q.108. What is the respective ratio of the total number of boys to the total number of girls in the field 
ofEngineering? 
a) 17:3  
b) 21:4  
c) 4:21 
d) 3:17  
e) None of these 
 
Q.109. The number of girls in the field of Chemistry is what percent of the total number of students? 
a) 2.28  
b) 3  
c) 2.50 
d) 3.36  
e) None of these 
 
Q.110. The total number of girls in various fields of Science is what percent of the total number of 
boysin various fields of Science? (Rounded off to two digits after decimal) 
a) 56.21  
b) 55.10  
c) 58.13 
d) 59.62  
e) None of these 
 
Each of the questions below consists of a question and two statements numbered I and II aregiven 
below. You have to decide whether the data provided in the statements are sufficient toanswer the 
question. Read both the statements and— 
Give answer a) if the data in Statement I alone are sufficient to answer the question, while thedata in 
Statement II alone at sufficient to answer the question. 
Give answer b) if the data in Statement II alone are sufficient to answer the question, while thedata in 
Statement I alone are not sufficient to answer the question. 
Give answer c) if the data in Statement I alone or in Statement II alone are sufficient to answerthe 
question. 
Give answer d) if the data in both the Statements I and II are not sufficient to answer thequestion. 
Give answer e) if the data in both the Statements I and II together are necessary to answer thequestion. 
Q.111. What is the circumference of the circle? 
I. The area of the circle is twice the area of the square. 
II. The side of the square is 56 cms. 
 
Q.112. What is Geeta's age? 
I. Geeta is 1/4th of Sunita's age who is six times the age of her six years old daughter. 
II. Geeta's age is 1.5 times the age of Sunita's daughter. 
 
Q.113. What is 20% of 1/6th of the number? 
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I. 3/4th of the number is 2767.5. 
II. The difference between 35%and 25% of the number is 369. 
 
Q.114. What is Mr. Gupta's annual income? 
I. Mr. Gupta invests 14% of his monthly income in life insurance and spends 25% of hismonthly income 
in household expenses and saves the rest. 
II. 15% of Mr.Gupta's monthly income is 50% of Sohail's monthly income which is Rs.3,750/- 
 
Q.115. What is the total number of students securing a first class in the examination? 
I. The total number of students in the School is 4600. 
II. 65%of the total number of students has secured 2nd class and 10% of the total numbers of students 
have secured 3rd class. 
 
Q.116. The average dailywages of 450 workers in a factory is Rs.45/- and the average dailywages of 
340workers in another factory is Rs.60/-.What is the approximate average daily wages of workersfrom 
both the factories together? 
a) Rs.58/-  
b) Rs.55/-  
c) Rs.45/- 
d) Rs.51/-  
e) Rs.62/- 
 
Q.117. If the numerator of a fraction is increased by 300% and the denominator of the fraction is 

increased by 150%, the resultant fraction is . What is the original fraction? 

a)  

b)  

c)  

d)  

e) None of these 
 
Q.118. In how many different ways can the letters of the word 'RECOGNISE' be arranged? 
a) 120960  
b) 362880  
c) 181440 
d) Cannot be determined  
e) None of these 
 
Q.119. Sohit borrowed a sum of Rs.6,300/- from Vikas at the rate of 14% for 3 years. He then 
addedsome more money to the borrowed sum and lent it to Mohit at the rate of 16% of simple 
interestfor the same time. If Sohit gained Rs.618/- in the whole transaction, then what sum did he lend 
toMohit? 
a) Rs.7,000/-  
b) Rs.6,800/-  
c) Rs.7,200/- 
d) Cannot be determined  
e) None of these 
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Q.120. A shopkeeper declares that he sells rice at the cost price. However he uses a weight of 425 
gms.Instead of 500 gms.What is his percentage of profit? 

a)17  

b) 15  

c)23  

d) 20  
e) None of these 
 
What approximate value should come in place of the question mark (?) in the followingquestions? (You 
are not expected to calculate the exact value). 
Q.121. 73570 ÷ 731 x 12.5 =? 
a) 1196  
b) 1285  
c) 1258 
d) 1169  
e) 1246 
 

Q.122.  + (46.85)2 =? 
a) 2190  
b) 2237  
c) 2256 
d) 2198  
e) 2268 
 
Q.123. 0.2% of 356 x 0.8 % of 779 =? 
a) 2  
b) 14  
c) 16  
d) 4  
e) 10 
 

Q.124.  +  =? 
a) 159  
b) 171  
c) 147 
d) 139  
e) 167 
 

Q.125.  *  *  * 2856 = ? 

a) 212  
b) 286  
c) 234  
d) 241  
e) 254 
TEST - III 
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GENERAL AWARNESS 
Q.126. On which date every year is “World Standard Day” observed? 
a) 23rdOctober  
b) 6th October  
c) 14th October  
d) 8th October  
e) None of these 
 
Q.127. Who won the 2007 Nobel Prize in Chemistry? 
a)Gerhard Ertl 
b) Oliver Smithies  
c)Martin Evans 
d) 1 and 3  
e) None of these 
 
Q.128. Which country has recently got a re-entry in UNESCO? 
a) Kenya  
b) Poland  
c) Singapore  
d) Australia  
e) None of these 
 
Q.129. The citizens of which country won the 2007 Nobel Prize for Economics? 
a) Sweden  
b)Germany  
c) USA  
d) France  
e) None of these 
 
Q.130. In which year will the General Election in Fiji be held? 
a) 2008  
b) 2009  
c) 2010  
d) 2011  
e) None of these 
 
Q.131. Who has been selected for first-ever African Leadership Prize? 
a) Kofi Annan  
b) NelsonMandela 
c)JoaquimChissano 
d) Fidel Castro 
e) None of these 
 
Q.132. Who is the author of book “Mister Pip”? 
a)UoydJoned 
b) Rudyard Kipling  
c)RonnieD’Souza 
d) James Matthew  
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e) None of these 
 
Q.133. Which of the following statements is/are TRUE about the Rajasthan State Mines and 
MineralsLimited (RSMML)? 
(A) It has set a new record by achieving the highest turnover of Rs. 570 crore during 2006-07. 
(B) It has earned profit of Rs.156 crore against the previous year’s figure of Rs. 150 crore. 
(C) The figure in the financial year 2006-07 stood at Rs. 453 crore. 
a) A and B  
b) B and C  
c) All are true  
d) A and C  
e) None of these 
 
Q.134. At which place would India’s first chip design centre be set up in 2008? 
a) Kolkata  
b) Bangalore  
c) Hyderabad  
d) New Delhi  
e) None of these 
 
Q.135. Which of the following statements is/are TRUE about the President’s election in Pakistan? 
(A) PervezMusharraf wins the election of the President. 
(B) He got 671 votes out of 685 total votes. 
(C) There are five participants for the President’s election. 
a) Only A  
b) A and B  
c) All are true  
d) Only C  
e) None of these 
 
Q.136. Which of the following statements is/are not TRUE about Planning Commission? 
(A) The Planning Commission has proposed amassive investment of $ 492 bn. on infrastructure projects 
for the Eleventh Plan Period. 
(B) 30 per cent of this amount or nearly $ 145 bn. will come from the private sector. 
(C) Of the private sector’s share of $ 145 bn. about 30 per cent or $ 44 bn. could come fromequity and 
the remaining $ 101 bn. through debt. 
a) Only A  
b) Only B  
c) Only C  
d) All are true  
e) None of these 
 
Q.137. Which of the following subjects would find a place in new National Council of Educational 
Research and Training (NCERT) syllabus in schools at the senior secondary level from the nextacademic 
year? 
A. Indian Crafts B.WasteManagement C. Graphic Design 
a) A and B  
b) B and C  
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c) A and C  
d) All  
e) None of these 
 
Q.138. Which of the following statements is/are TRUE about the survey of IIMS DataWorks? 
(A) About 35.4 percent Indian women are working in agriculture sector. 
(B) Only 5.2 percent Indian women work in private sector. 
(C) Only 12.7 percent Indian women are the part of active workforce, who get wegs. 
(D) According to this survey country’s only 81 percent out of 26 crore women got only 90 
thousandsalary annually. 
a) A and B  
b) All are true  
c) B, C and D 
d) A and D  
e) None of these 
 
Q.139. Which Indian Company has got the 14th rank in “Fin-Tec 100”? 
a)Wipro  
b) Infosys  
c) Reliance  
d) TCS  
e) None of these 
 
Q.140. At which place was the 21st Trinnial Conference of the Common WealthMedical Association 
held? 
a)Chennai  
b) Pune  
c) New Delhi  
d) Kolkata  
e) None of these 
 
Q.141. Howmanymembers are there in the Federation of International FootballAssociation (FIFA)? 
a) 200  
b) 204  
c) 205  
d) 208  
e) None of these 
 
Q.142. Howmany countries are there in the European Union (EU)? 
a) 26  
b) 25  
c) 27  
d) 28  
e) None of these 
 
Q.143. What is the rank of India in theWorld on the basis of Forex Reserve? 
a) 3rd  
b) 4th  
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c) 5th  
d) 6th  
e) None of these 
 
Q.144. By which year is the India-Asian Free Trade Agreement likely to be finalized? 
a) June 2008  
b) May 2008  
c) July 2008  
d) August 2008  
e) None of these 
 
Q.145. Which country will host the ‘World Cross Country Championship’ in 2009? 
a) Jordan  
b)Greece  
c) Malaysia 
d) China  
e) None of these 
 
Q.146. At which place has ‘The International Radar Sumposia India-2007’ been held? 
a) Pune  
b) New Delhi  
c) Bangalore  
d) Hyderabad  
e) None of these 
 
Q.147. Which of the following statements is/are TRUE about the Central Government? 
(A) The centre is finalizing a proposal to use multi-application smart cards with unique ID forcitizens to 
check illegal immigration. 
(B) Under this schemeGovernment sought tomerge two schemesMulti-Purpose National IdentityCard 
and Unique Identity Number Scheme. 
(C) The Government has allocated Rs. 500 cr. for this purpose. 
a) Only A  
b) All are true  
c) A and B  
d) B and C  
e) None of these 
 
Q.148. Which of the following statements is/are TRUE about the GSAT-4? 
(A) This is a satellite, which will be launched in June 2008. 
(B) This satellite would provide computer connectivity to remote villages in the country. 
(C) It will be launched by the Indian Space Research Organization. 
a) A and B  
b) Only B  
c) All are true  
d) B and C  
e) None of these 
 
Q.149. Which of the following statements is/are TRUE about the Cambodian PrimeMinister’s India Visit? 
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(A) India and Cambodia have signed six agreements including a pact on intensive ties betweentheir 
state-owned oilmajors. 
(B) During this visit Cambodian National Petroleum Authority and ONGC Videsh have agreed toexchange 
ideas on cooperation in the fields of training and education regarding oil and gasoperations. 
(C) The five pacts, one pact is on foreign office consolations envisages regular vice-Ministerialreviewof 
bilateral relation. 
a) Only A  
b) A and B  
c) All are true  
d) B and C  
e) None of these 
 
Q.150. In which of the following countries was the ‘Third East Asia Summit’ held? 
a) Malaysia  
b) Singapore  
c) Japan 
d) China  
e) None of these 
 
Q.151. The number of tax payers has increased in 2006-07 from 2003-04 in India.What was the 
numberof tax payers in 2006-07? 
a) Rs.301.78 lakh  
b) Rs.319.26 lakh  
c) Rs.320.34 lakh 
d) Rs. 323.52 lakh  
e) None of these 
 
Q.152. The World Bank has approved the largest package for infrastructure to which of the 
followingcountries? 
a) India  
b) China  
c) Nepal  
d) Bangladesh  
e) None of these 
 
Q.153. According to the Global Rating Agency S&P, what will be Economic Growth Rate in 2008? 
a) 8.1-8.6  
b) 8.5-9  
c) 8.0-8.5  
d) 8-9  
e) None of these 
 
Q.154. Which of the following statements is/are TRUE? 
(A) The total trade between India and Singapore was worth $19.9 bn. in the year 2006. 
(B) According to the EXIMbank, Singapore is one of the top four countries that IndianCompaniesuse as 
on internationalizing Platform. 
(C) Apart from semi-conductors and computer Peripherals, Singapore is emerging as aPetrochemical 
hub. 
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a) Only A  
b) Only B  
c) Only C  
d) A and B  
e) All of the above 
 
Q.155. Recently, theWorld Bank has approved $253million in grants for which of the following 
country’sinfrastructure development? 
a) Bangladesh  
b) Nepal  
c) India 
d) Sri Lanka  
e) None of these 
 
Q.156. Which country will host the next Twenty-20World Cup Cricket Championship? 
a) Australia  
b) Sri Lanka  
c)New Zealand 
d) England  
e) None of these 
 
Q.157. On which date is “World Student Day” observed every year? 
a) 3rdNovember  
b) 17thNovember  
c) 26thNovember 
d) 8thNovember  
e) None of these 
 
Q.158. Who has been awarded the first K.Subrahmanyam Award for Excellence in Strategic Studies? 
a)SudhaMahalingam 
b) Pankaj Agnihotri 
c)MeeraSundaran 
d)Ashwini Verma 
e) None of these 
 
Q.159. Which city has hosted the Mobile Asia Congress? 
a) Kolkata  
b)Macau  
c) Tokyo 
d) Bangkok  
e) None of these 
 
Q.160. What percentage of the country’s population will be over 50 years old by 2050? 
a) 42.1%  
b) 32.8%  
c) 25% 
d) 27.4%  
e) None of these 
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Q.161. Which of the following state has recently launched ‘Maitri Project’ related to ‘Bauddha tourists’? 
a) Bihar  
b) UP  
c) MP  
d)Chhattisgarh 
e) None of these 
 
Q.162. Which of the following statement is/are TRUE about the agreement of Railways and 
NationalThermalPower Corporation (NTPC)? 
(A) Both have signed an agreement to set up a 1000 MW power plant at Nabinagar in Bihar. 
(B) The new plant will help to save Rs. 400-600 cr. annually on power purchase by Railways. 
(C) NTPC will divert Rs. 1188 crore in the plant, while the Railways contribution will be Rs. 417crore. 
(D) The average cost of generation from this plant will be Rs. 2.13 a unit. 
a) A and B  
b) B and C  
c) A, C and D 
d) All are true  
e) None of these 
 
Q.163. Which of the following statements is/are TRUE about the Central Government’s approval? 
(A) It has approved to set up National Fashion Technology Institute (NIFT) at Raibarely. 
(B) It also approved the modernization of Indira Gandhi National Aviation Academy of Raibarely. 
(C) Government would give finance to NIFT on the basis of IIT and IIM. 
a) A and B  
b) B and C  
c) Only C 
d) All are true  
e) None of these 
 
Q.164. Which of the following statements is/are TRUE about the Union Health and Family Welfare 
Ministry? 
(A) It has launched a Mass Drug Administration for the Elimination of Lymphatic Filariasis (ELF)day to 
protect people from lymphatic filariasis. 
(B) According to it India has the world’s largest number of filariasis cases. 
(C) According to it the disease has prevalent in 20 States and Union Territories. 
a) A and B  
b) Only B  
c) B and C  
d) All are true  
e) None of these 
 
Q.165. Which of the following statements is/are TRUE about bellwether index Sensex of India? 
a) Sensex becomes the world’s 33rdindex to cross the mark of 20000 point. 
b) In Asia, the bellwether index of India is second only to Hong Kong’s Hang Seng to scalemount 20000. 
c) India has become the 20th nation in the world to touch the 20000 point mile stone. 
d) 1 and 2 
e) All are true. 
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Q.166. Which of the following statements is/are TRUE about Foreign Capital Inflow? 
a) Foreign Capital Inflow in India is about 3%of GDP. 
b) Foreign Capital Inflow in India is about 3.5%of GDP. 
c) Only 1.1% of foreign capital is used in productive work. 
d) 1 and 3 
e) None of these 
 
Q.167. According to the Planning Commission figures India’s community health centres require 
3910surgeons. About how many surgeons are sanctioned for this year? 
a) 2372  
b) 1381  
c) 972 
d) 1296  
e) None of these 
 
Q.168. Which country has recently hosted a two-day UNESCO Regional Conference? 
a) India  
b) China  
c) Pakistan 
d) Japan  
e) None of these 
 
Q.169. Who is the world’s richest Muslim Entrepreneur, according toWall Street Journal? 
a) Nasser Kharafi 
b)AzimPremji 
c) Mohammad Amoudi 
d)AbdulazizGhurair 
e) None of these 
 
Q.170. Which country is going to set up the world’s biggest Solar Telescope? 
a) Russia  
b) India  
c) Australia 
d) Malaysia  
e) Israel 
 
Q.171. Raymond Baree passed away recently. He was the former Prime Minister of which country? 
a) Sweden  
b)Denmark  
c) France 
d) Italy  
e) None of these 
 
Q.172. Who has been chosen as the ICC Cricketer of the Year? 
a)Matthew Hayden  
b) ShaneWarne  
c) Ricky Ponting 
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d) Brian Lara  
e) None of these 
 
Q.173. There is howmany energy companies of India in the world’s Top 250 Energy Companies List? 
a) Three  
b) Eighteen  
c)Seven 
d)Eleven  
e) None of these 
 
Q.174. Who has been chosen Emerging Player of the Year in ICC Awards? 
a) Shaun Tait 
b)PiyushChawla 
c)TamimIqbal 
d) Mitchell Johnson  
e) None of these 
 
Q.175. India’s Teledensity (Phones per 100) has reached——at the end of August 2007. 
a) 32.63  
b) 28.54  
c) 35.47 
d) 21.20  
e) None of these 
 
TEST - IV 
ENGLISHLANGUAGE 
Read the following passage carefully giving special attention to bold letters and answer thequestions 
given below. 

It goes without saying that the intricate web of international relations would collapse if 
theconcept of diplomatic immunity were to be scrapped altogether. After all, diplomats operating ina 
hostile environment need some reassurance that they and their families will not be subjected 
tocoercion and harassment. However, as with many other good ideas, this one too has beenthoroughly 
distorted in practice. From New Delhi to New York, the rashest drivers are invariablythe ones steering 
vehicles with diplomatic license plates. Smuggling, petty crime and espionagefrequently thrive behind 
embassy walls. There was the controversy over a Pakistani diplomatposted in the US who beat his 
partner, whereupon the police intervened. And more recently, theson of the Senegalese ambassador 
literally got away with murder in India. Diplomatic immunityoften encourages behaviour in way that not 
only portrays the diplomat's country in a very poorlight, but could also be used bymischief-makers in the 
host country to incite popular resentment.In that sense, it could actually work against the interests of 
international diplomacy.While it may not be good idea to do awaywith diplomatic immunity altogether, 
perhaps the timeis right to at least start reconsidering whom it should be applied to, and whether it 
cannot bemodified in extreme cases. To begin with, diplomatic immunity should only be applicable to 
thediplomats, his or her spouse, and dependent children. It should not be available to a diplomat'schild 
who is legally recognized as an adult. It should most certainly not by grant to othermembers of a vast 
diplomatic entourage who individually or collectively could be up to all sorts ofhanky- panky. And in 
case of extreme wrongdoing, the accused should be tried, according to the laws of his own country, 
within his own embassy, but not be allowed to leave the host country tillthe case is satisfactorily 
resolved. 
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Q.176. What will happen if the concept of diplomatic immunity is done away with? 
a) It will reduce smuggling 
b) It will facilitate criminals 
c) The international relations will collapse 
d) It will increase espionage 
e) None of these 
 
Q.177. Who should be barred from enjoying diplomatic immunity? 
a) All the diplomats 
b) All the members of the diplomat's family 
c) Adult children and the entourage of the diplomat 
d) The spouse of the diplomat 
e) None of these 
 
Q.178. What is author's suggestion regarding diplomatic immunity? 
a) Diplomatic immunity should be unrestricted 
b) There should be some reconsideration 
c) Diplomatic immunity should be done away with 
d) All of these 
e) None of these 
 
Q.179. How can we define the concept of 'Diplomatic immunity'? 
a) Freedom for a diplomat to do anything in the host country 
b) Some special privileges protections and exemptions for a diplomat in a host country 
c) Barring legal action against a diplomat 
d) None of this 
e) All of these 
 
Q.180. What should be done in case of extreme wrong doing by a member of the diplomatic 
communityin the host country? 
a) He should be repatriated 
b) He should be declared person a non-grate 
c) Legal action should be taken in his embassy according to the law of his country 
d) All of these 
e) None of these 
 
Choose the proper SIMILAR word to the givenWORD/PHRASE. 
Q.181. INTRICATE 
a) severe  
b) sober  
c) serene  
d) complicated  
e) None of these 
 
Q.182. COLLAPSE 
a) unconscious  
b) collide  
c) consolidate  
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d) fall down  
e) None of these 
 
Q.183. SCRAPPED 
a) violated  
b) imposed  
c) infringed  
d) repeated  
e) None of these 
 
Q.184. COERCION 
a) compulsion  
b) intrusion  
c) caution  
d) admission  
e) None of these 
 
Q.185. ESPIONAGE 
a) estranged  
b) spying  
c) eliciting  
d) conspiracy  
e) None of these 
 
Q.186. ENTOURAGE 
a) cavalcade  
b) caravan  
c) escort  
d) group  
e) None of these 
 
Choose the ANTONYM of the word given as used in the passage. 
Q.187. HANKYPANKY 
a) in disorder  
b) helpless  
c) troublesome  
d) honest  
e) None of these 
 
Q.188. TO DO AWAY WITH 
a) avoid  
b) abolish  
c) erase  
d) evade  
e) None of these 
 
Q.189. ADULT 
a)major  
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b) superior  
c) adolescent  
d)minor  
e) None of these 
 
Rearrange the following sentence to make a meaningful paragraph and answer the followingquestions. 
(A) The other is that it has made journey by road hazardous. 
(B) Finally, in this age of energy crisis, a personal car is an expensive thing. 
(C) One of these is the smoke and pollution that it creates. 
(D) The motors car is one of the useful gifts of modern science. 
(E) It has made short andmedium distance journey fast and comfortable. 
(F) Yet we cannot say that a motor car is a blessing without disadvantages. 
Q.190. Which is the THIRD sentence? 
a) C  
b) D  
c) A  
d) F  
e) B 
 
Q.191. Which is the LAST sentence? 
a) A  
b) B  
c) C  
d) D  
e) E 
 
Q.192. Which is the FIRST sentence? 
a) F  
b) E  
c) D  
d) C  
e) B 
 
Q.193. Which is the SECOND sentence? 
a) B  
b) E  
c) D  
d) B  
e) C 
 
Q.194. Which is the FIFTH sentence? 
a) C  
b) D  
c) B 
d) A  
e) E 
 
Q.195. Which is the FOURTH sentence? 
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a) B  
b) A  
c) F  
d) E  
e) C 
 
Read the following numbered sentence and find out if there is any error. 
Q.196. The solder said firmly/a)that hewould rather starve/b)than stealing/c)to get what he 
needed/d)No errore) 
 
Q.197. These vegetables which are grown/a)here are/b)cheap in/c)cost and rich of 
vitamins/d)Noerror/e) 
 
Q.198. The orphanages in/a)the thickly populated cities in India they are/b)founded/c)by 
generousdonors/d)No error/e) 
 
Q.199. I object to/a)war not because it drains/b)economy but that/c)it seems inhuman/d)No error/e) 
 
Q.200. Whom/a)do you plan to invite/b)to your party besides/c)Mr. Rao and I?/d)No error/e) 
 
In each of the following sentences, there are two blank spaces to be filled from the options:- 
Q.201. Wemust prevent endangered wild species from becoming...........in order that our future 
generation may.........the great diversity of animal life. 
a) rare, escape  
b) out dated, know 
c) volatile, notice 
d) powerful, protect 
e) extinct, enjoy 
 
Q.202. India's immense size as also the fact of its..........society............any attempt towards a 
neatcapsuled presentation of any subject 
a) cultured, demonstrates  
b) pluralistic, defies 
c) multi-religious, fails  
d) amorphous, challenges 
e) variegated, frustrates 
 
Q.203. The man who is impatient to become rich can easily be .........to the race track or the 
gamingtable, where a lucky.........nights make him rich 
a) enticed, chance  
b) evoked, streak  
c) pushed, moment 
d) lured, break  
e) pursued, challenge 
 
Q.204. The secretary.... the society's funds,........... he was dismissed. 
a) misplaced, soon  
b) robbed, thus 
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c) pirated, therefore  
d)misappropriated, so 
e) defrauded, because 
 
Q.205. There are attempts being made to try to...............languages through specific...............but 
theresult is that some tongues become conserved as if they were a museum piece 
a) save, ways  
b) conserve, factors 
c) preserve,measures  
d) protect, tricks 
e) None of these 
 
Some phrases are given below. Choose from the options the proper idiom giving the samemeaning. 
Q.206. To fail one in the execution of one's plan 
a) Tomake one's mark 
b) To have something at one's fingers end 
c) To fall flat 
d) To put a spoke in one's wheel 
e) To put one's foot down 
 
Q.207. To change for the better 
a) to make up one's mind 
b) No love lost between 
c) from hand tomouth 
d) in the nick of time 
e) To turn over a new leaf 
 
Q.208. To challenge 
a) in the long run  
b) to call in question 
c) through thick and thin  
d) to throw cold water 
e) to turn one's hand to 
 
Q.209. On very intimate terms 
a) to sit on the fence  
b) all one  
c) at issue 
d) to bring to light  
e) hand and glove 
 
Q.210. Not to be named in comparison with 
a) to live by one's urts  
b) to strain every never 
c) to burn one's fingers  
d) Not fit to hold a candle 
e) to bid fair 
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Choose the properONEWORDSfor the given phrases. 
Q.211. One who is well versed in any subject especially in fine arts. 
a) veteran  
b) philistine  
c) dilettante  
d) connoisseur  
e) None of these 
 
Q.212. Regard for others as a principle of action 
a) cynicism  
b) philanthropy  
c) nepotism  
d)Attruisan 
e) None of these 
 
Q.213. An animal story with a moral 
a) fable  
b) tale  
c) anecdote  
d) parable  
e) None of these 
 
Q.214. Witty clever retort 
a) sarcasm  
b) repartee  
c) platitude  
d) invective  
e) None of these 
 
Q.215. Words different inmeaning but similar in sound 
a) homonym  
b) synonym  
c) acronym  
d) antonym  
e) None of these 
 
Choose the proper filler to fill the numbered blanks from the option. 

For theman on the (216) entertainment is all (217) having some fun & frolic with spice added, 
(218)one has sufficient spare time. But, for the people (219) in this business, entertainment means long 
working hours (220) with creative sense and a strong will to make 'enjoyment' a (221) Clearly, 
entertainment has developed (222) a big industry creating employment for lakhs of people. (223) the 
years, entertainment has come to (224) varied areas in its (225) with further additions to its list as time 
passes by. 
Q.216.  
a) road  
b) street  
c) city  
d) village  
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e) office 
 
Q.217.  
a) about  
b) over  
c) around  
d) for  
e) across 
 
Q.218.  
a) whether  
b) unless  
c) supposing  
d) about  
e) provided 
 
Q.219.  
a) involved  
b) interfere  
c) include  
d) induct  
e) introduce 
 
Q.220.  
a) added  
b) combined  
c) joined  
d) coupled  
e) connected 
 
Q.221.  
a) reality  
b) fact  
c) option  
d) choice  
e)materializes 
 
Q.222.  
a) on  
b) to  
c) up  
d) into  
e) down 
 
Q.223.  
a) over  
b) above  
c) under  

For more materials visit www.educationobserver.com/forum



d) into  
e) for 
 
Q.224.  
a) included  
b) combine  
c) induct  
d) encompass  
e) furnish 
 
Q.225.  
a) group  
b) fold  
c) crew  
d) crowds  
e) part 
 
------------------------------------------------------------------------------------------------------------------------------------------ 
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